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250mm’  uazuvisegiitun CE Hfunndhdaynuiifu 450 mm®  dwaaalugil)
ninga A wnaouiasldlifu03smm,  smansin una P asliagegala mils
fmuald: f1 modulus of elasticity, E veanaundoauvifiu 105 GPa.

A1 modulus of elasticity, E wa1agiiitiouviniy 72 GPa.
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Q 2. A steel bar with a butt-welded joint as shown in Figure 2 will be used to carry an axial tensile
load of 400 kN. If the normal and shear stresses on the plane of the butt weld must be limited to 70

MPa and 45 MPa, respectively, determine the minimum thickness ¢ required for the bar

400 kN

Figure 2
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Q 3. A thin rectangular plate ABCD is uniformly deformed into the dashed line shown in Figure 3.

Determine the average normal strain of side AB of the plate and the average shearing strain of the

plate

Figure 3
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Q 6. The machine part as shown in Figure 6. is 10 mm thick and is made of stainless steel. Determine

the maximum safe load P if the maximum normal stress is not exceed 760 Mpa. Figure 7 is the useful

data to obtain SCF.

Figure 6
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Q7. wawu AB uaz CD ¥ownerudiessuuies Tasriu es B uaz Msa C
Swaaluzl?  malTuuudiia (torque ), Ty vu1AMIAY 1200 N-m. 105z
laty iman A TWawaminlmowma 1 szvyulildugpuilse

fvualit: A1 modulus of elasticity, E wpawaiiaaes Uauniiu 77.2 GPa.
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